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     Cholkar     MCHS   MATH II         ___/___/___         Name____________________________
	U5L1INV5
	How do we simplify and rewrite expressions with radicals?

	HW # 

	 Complete Handout  [1b, 1e, 2h, 2j, 2l, 3]
                   

	Do Now

	Find the value of x.
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[image: image23.png]For each numberad problem, find the letter for the equivalent expression in the columa ta
the right. Write the letter for the answer in the box with the peablem’s number. Use your
y celculator if you need to.
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0o you ki o o gt the answers witheut using  calolstr?

To getan answer in “simplest radical form” (ike in numbers | & 7). you need to.



INVESTIGATION:  WHERE DOES A GENERAL KEEP HIS ARMIES?
[image: image24.png]To multply radicals (fie in numbrs 3 & 4), you need to...

To add or subtract radicals (ike in numbers 5-8), you need to.




SIMPLIFYING RADICALS

[image: image2.png]We are familfar with taking square roots (v ) or with taking cubed raots (), but
You may ot be as familar with the elements of a radical.

An indexin a radical tells you how many times you have to multiply the root times itself to gt the radicand.

For example, in VBT = 9, 81 s the radicand, 3 is the root, and the index is 2 because you have to multiply the
root by itself twice to get the radicand {9 - 9 = 9% = B1). When a radical is written without an index, there is
an understood index of 2
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[image: image3.png]Ves...you can se your calculator to do this, but for sme of the more simple problems, you should be able to
figure them out in your head.

To use your calculator

Step 1:Type in the indiex.
Step 2: ress MATH

Step 3: Choose SV

Step 4: Type in the radicand.

Discuss with your neighbor if you've forgotten the shorteuts to to find square roots and cube roots using your
calculator,

YouTry:
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[image: image4.png]BUT not every problem will work out that nicely!
Try using your calculator to find an exact answer for Y24

The calculator wil give us an estimation, but we can't write down an irrational number like this exactly ~ it
can't be written as a fraction and the decimal never repeats or terminates. The best we can do for an exact
answer s use simplest radical form,

Here are same examples f how to write these n simplest radical form. See if you can come up with a method
for doing this. Compare your method with your nelghbor's and be prepared to share it with the class. (Hint: do
you remember how to make a factor tree?)
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Simplifying Radicals: 1]
2
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GROUP WORK
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	Lesson Summary
	In this investigation, we discovered and discussed ways to simplify a radical.  List the three ways we discussed we can simplify a radical.



Cholkar     MCHS   MATH II         ___/___/___         Name____________________________
HW # 
1.  Simplify the following.

	a. 
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	b. 
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	c. 
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	d. 
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	e. 
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	f. 
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2. Write each expression in simplest form.

	g. 
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	h. 
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	i. 
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	j. 
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	k. 
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	l. 
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REVIEW:
m.              3.  The graph of [image: image17.png]


 is shifted up 3 units and right 5 units.  Which equation represents the resulting graph? 

	a.
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	c.
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	b.
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